GR 11 REVISION:  FINANCIAL MATHS

   [image: ]

[image: ]




[image: ]

[image: ]


[image: ]

[bookmark: _GoBack][image: ]
    
3

image3.png
Sam deposits R30 125 into an investment account for five years. For the first two years, the
investment earns 13% interest p.a. compounded monthly, and is worth R39 015,43. At the
end of the five-year investment period, Sam receives a pay out of R47 540,04.

Calculate the interest earned in the last three years of the investment, compounded
quarterly.

Mr Mhlongo deposited R10 000 into a savings account at 4,32% p.a. compounded
quarterly, for 15 years.

7.1 Use the nominal rate to calculate the final value of the investment after 15 years.
7.2 Determine the effective equivalent annual rate.

73 Determine if the effective annual rate gives the same final value for the investment.
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An NGO receives a donation of 1650 kg of maize seed.

8.1

82

Determine for how many days they will be able to give seeds to poor communities, if
they give seeds out at 39 per day on the straight line method. Round off your answer
to two decimal places.

After how many days will they be left with 132 kg of maize seed if they give seeds out
at 8% per day on the straight line method? Round off answer to two decimal places.
A concerned community member asks them if they can reduce their donations so
that the seeds last for 75 days.

Calculate what percentage they can give out per day, correct to two decimal places.

Question 9

A doctor buys new medical equipment for his practice, valued at R2 605 252.

9.1

92

Determine the depreciated value of the equipment after seven years if the rate of
depreciation is 12,5% p.a. on a reducing balance.

Determine the rate of depreciation on a reducing balance if the value of the
equipment falls to R650 000 after four years.
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A plasma television screen that was bought four years ago is now worth R 260. Calculate
‘what was paid for the screen four years ago f the rate of depreciation on a reducing
balance is 15% p.a.

A school buys a new bus for R1 250 000. They know that the bus will have to be replaced in
five years. This kind of bus normally depreciates at 17% on a reducing balance. The
expected average rate of inflation over the next four years is 6,02%.

111 Calculate:

111 the value of the bus after five years.

1112 the cost of a new bus after five years.

1113 the difference between the cost of a new bus and the value of the old bus
after five years.

1.2 A well-to-do parent donates R75 000 to the school for a new bus at the end of the
third year. If the school invests this donation at 1206 per annum, compounded
monthly, will they be able to cover the shortfall between the cost of the new bus and
the resale value of the old bus at the end of the five years?
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Mr Gumede donates 15 new computers to his local community centre. The current value of
the computers is R45 000, and computers normally depreciate at 10% on a reducing
balance. The centre will have to replace the computers after 2,5 years. Inflation is expected
tobe 7,26% annually for the next four years.

If Ms Sithole, another wealthy community member, donates R8 000 to the community
centre at the same time that Mr Gumede donates the computers, and the centre invests the
money at 15% p.a. compounded weekly, will they have enough money available after 2,5
years to replace the computers? If not, how much will they still need?
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Which of the following investments yields the most after seven years?
11 R61000 invested at 15% p.a. compounded every four months

12 R61000 invested at 14% p.a. compounded daily.

Aninvestment yields Rg99 822 after ten years. When the investment was made ten years
ago, the bank offered 3,206 p.a. compounded monthly. Calculate the initial investment
amount.

Dikeledi wants an invested amount to quadruple (be four times as much) in value within
four years. At what interest rate, compounded quarterly, must she invest her money? Do
you think this is possible?
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Stephni deposited Rxinto an investment account nine years ago. During the first two
years, the investment earned 120 interest p.a. compounded monthly. After two years,
Stephni withdrew R1g 201,85. She then re-invested the money at 7,5% p.a. compounded
daily. After seven years, she receives a lump sum of R3 111 052.

Solve for x, correct to the nearest cent.

The output of an investment that Larisse took out nineteen years ago is Rs 825 156. During
the first six years, the interest earned was 9% p.a. compounded yearly. During the last
thirteen years, the investment earned 12,4% p.a., compounded monthly.

Calculate the initial investment.




